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7. A rightward shift of the demand curve for .-mnmmh
I': a decrease in the income o “‘."“""r:;“
anincrease in the price of e conmmt
¢ a decrease in the prive of 118 wubstitute
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N, In a labour-surplus economy, if the nﬂ\'cmmcm (ixes aminim
A a tall in supply of labour
‘ R wade union agitating for higher wages
] < an excess demand for labour.
D that many workers may lose their jobs.
9. _The rating of individual wants in order of priority 15
A. scale of preference.
B. demand schedule.
C. choice making.
D. opportunity cost.
f data usually affect the value of the

In economic analysis, the extreme values in a set 0

10.
mode.

of the following can lead to monopoly”
nership of an important raw material

of similar goods by many scllers

super-normal profit by the seller
‘many buyers and sellers into the market

h tariff on the imported substitute of a locally produced good, the
rted substitute will fall.
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The main aim of import-substitution strategy i 10
produce goods that are being imported,
mcrease the production of exports
reduce the level of unemployment
generate foreign exchange
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The svstem of taxation in which the tax rate is the same irrespective of the tax basc s
A proportional tax. ;
B. specific tax.

C. progressive tax. '
D.  regressive tax. |
Inflation caused by an increase in the purchasing power of individuals is best deseribed a5
A. cost-push inflation.
B. creeping inflation.

C. demand-pull inflation.
D. hyper-inflation.

The financial market responsible for mobilizing short-term loans isthe
mortgage market.

money market.

capital market. |
foreign exchange market.
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Cooperative farms are able to achieve economies
A have large membership.

B. are registered by the government.

C find it easier to sell their produce.

D. pool their resources together.
One measure government can adopt 10
A encouraging savings and investm
14 encouraging the production of :
G encourpging the consumption of mported
D ensuring increase in population growth r

Production subsidies are granted to local fi v
A, reduce the consumption of dangerc
1. cause an increase in output. .
C. make imported consumer
. increase government inte
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A Capital accoom

) \sible trade accomm

. Invisible trade accoum

D CfTcinl financing sceount

If the sum of income of foreigners in Ghana is less than t

natronals abroad, the net factor income from
A zero

i there
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abrood for Ghana will be

and

B negative.

C pasitive.

D fluctuating.

Which of the following statements is true of the long-run equilibrium positions of both
nerfect competition and mono listic competition?

; s = enue are equal

A Profit is maximized where marginal

Profit is maximized where average cost and

B.
= Normal profits are carned
D Super-normal profits are carned

F ffective demand for a commodity is €
need or desire expressed for the €0

revenue and average rev
marginal cost are equal

xpressed in the market by

mmodity.

u'illmgrm and ability to pay for the commodity.

A

B.

C. habit of the consumer for the commodity.
D

1aste and gppetitedeveloped for

Foreign exchange eamings
2 mmfmnm

ssive importation of food

A.
B. : 'mspoﬂation. network
C. ement of subsistence farming

,‘ onof price-ceiling on farm products

the commodity.

g will encourage agricultural development?
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The shift of the demand curve from points F to E represents

\ a fall in the quantity demanded.

B an increase in the quantity demanded.
C a decrease in demand.

D an increase in demand.

Uility 1s maximized when the marginal utility per dollar spent on one commadity is
A greater than the marginal utility per dollar spent on the other.

B equal to the total utility of the other.

2 the same as the marginal mllltypwglhf spent on the other.

less than the marginal utility per de sent on the other.
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Specialization of labour is best defined as
A breaking down of a production §
B identifying tasks that will requ
( splimting of manufacturing into
D concentration of workers® prox

If there is an increase in the price of pal
A an upward movement along its st
B. a rightward shift in its supply cur!
C a lefiward shift in its supply cur
D a downward movement along its

An example of occupational mobility o
A a rural area to an urban area.
B. an urban area to a rural area.
C agriculture to industry.

D one school to another doing the same §
If socks and shoes are in complementary demand
A decrease the demand for shoes. '\

B not affect the demand for socks.
( increase the demand for socks. R
D decrease the demand for socks.
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I ageregate demand and output of goods increase at the same rate, prices
A remain stable,

B fluctuate,

( increase slowly.

D fall rapidiy.

High cost of transporting finished goods will cause a firm 1o be located »
A source of power supply.

B source of the raw materials.

C market for the product.

D labour supply.

\tiddlemen are not relevant in the chain of distribution if the produce A
A, sellsinbulk. 1
B. sells imported goods.
C provides warehousing facilities.
D. provides personal services 1o clients.
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Optimum population is desirable because it enables a connttyﬂbl !
attain maximum income per head. -
over exploit its natural resources.
achieve low output per head.
experience low standard of living.

Increasing the consumption of a commodity will eventually add,
more to marginal utility.
more to average utility.
nothing to average utility.
less to total utility.
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An ex: >
M xample of a labour service W ith
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doctor
B. messenger.
C. driver.
D. cleaner
47. A direct tax is one levied on
A‘B\- income and capital pamns.

& production at every stage
: imported goods only.
D. goods and services.

48. A country’s balance of trade is favourable it

A. receipts from total exports is greater than hef payments for total imports
¢ the value of her visible imports is greater than that of hef ¥ isible expor?

C. the value of her visible exports s greater than that of hery isible imports
D.  thevalueof goods exported equals the value of goods imported

" ’F p mll%eonm is usually characterized bya
A “highly capital intensive agricuftural sector.
of infant and maternal mortality.
¢ of human capital formation.
; sector that contributes more {© national income.

refersto situation in which labour undertakes jobs and
alaries than they deserve.

.gthcit,subo:dinales.

- actt ilities.

schedule.



